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Performance Instructions

General
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quarter tone lower
quarter tone higher

accent (weak, normal, strong)

A £\ 1 fermata (short < 1 sec, normal 1-3sec, long > 3sec)

Dynamics

All dynamics are to be understood as relative dynamics.

ppp thus means “play as soft as possible”, fff means “play
as loud as possible (but not in a distorted way)”

Strings
sp

st

clb

clt

1/2cl

seagull

.

¢

crack

bow scrape

§

sul ponticello. Bow close to the bridge

sul tasto. Bow on the fingerboard

col legno battuto. Hit with the wooden side of the bow onto the string.

col legno tratto. Bow with the wooden side of the bow.

1/2 col legno tratto. Bow with the wooden side and with the hair of the bow.
getato

excessive bow pressure

bow parallely to string

damp string(s) with fingers of the left hand

on the bridge

directly behind the bridge
behind the bridge

on the wound part of the string
on the tailpiece

on the tailpiece-wires

seagull effect. play a flagoelet as notated,
but perform a gliss without changing the
distance between the two string contact
points. The interval is thus changing
continuously giving a seagull like cry.

with bow tension screw

bartok pizz.

The hair of the bow is pressed forcefully against the open
string with the middle finger of the bow hand wrapped around
the stick and frog of the bow and the thumb braced against the
bridge. The various pitches are produced depending upon the
contact point between bow and string.

bow scrape on the top of the instrument: the bow is laid
across the top and the stick is ground over the hair

bow on the scroll



vi2

50

—3-
I\

o
Yol
I

Jw

A.»A

=

2
=X

e e fe

=84 be be

i

Jf =

|1
I
I
I
I

Y
R
iy
[ YAA!
o]
32 ol Y
i hummu m”
) B
iy
dind
IM__
Ci
EAYTHIIES

o ] o 7] L
D - B - o

1

4]

)4
=

[J)

S—

L 447

2

==

N
|
-

Q-

.q#

ord. IT

e

T

S

=50

203!

i

IQ w o Hif @/, B

345.

mf




vi2

arco Ke
tuning peg box W
48 —3— —3 ord sp . ——— N

85 A m con sord st /.\ m st
0 N o o o o
A =m- | 4 4 4 ¥

‘/3 — /\ 1/2 clt
>
105 L) | . - Q

— [N [N I C I I I I

[N [N Il I:ID 1 1




st

te

#ﬁf-ﬁfﬁ-fﬁfufﬂ{*- oo

e

—®

g

mf

arco
=
Il

pizz
N
Ne/

L—_3—

T reze
——

N7

|~
o)
/B

Ik H gl
U
mp

CH|

mf

127 L)

QL

o]

=3
(1]
b/

|

4l

#

A

133

M1l

L) ]
(1]
b/

i

<mf> <mf> <mf>

>

<m

¥ 4

Ty

A
|, 7 O
|9 L0)

jleeee

jleees

N
&
S

Jheeee

£

Ty

A
|, 7 NN
|9 L))

153 N

S —— Jf ——

Jff ——

3

3

S S 5 5 =

B

pizz

160 L)

1/2 clt

arco

—f <ﬂ%<ﬁﬁ§>%f>?f>>

<f><f> <f> <Jff

S




1/2 clt
>

%O
TITee
v
-EE')
Meee

L

il /
e n YY)

<JIf1 <JIF <SIF Jf

<Sff

/'\ ord st = 60

186 N l)' on the mute ord sp III

arco ord /\
202 J = 50 on the mute I’Q % hd
1) |

T o T T T T I2t|:§
0 0 0 & r J i C— T - - T
| 3 i i ? = = - — 1 1 = 3 ¢y
f Ve =
I ——

N
(BEJU

210 on the mute ord , l)
o
1~ = T {)
v e I XX — r &
i S
172

_—s 45— 55— 55— 5

[ —

on the mute




vi2

<> <>

<>

<> <>

<> <> <>

<>

<> <> <>

<>

<> <> <>

50

<> <>

60

J

.
7}
-

—3—

8

y X0

7

A
Q=
D
dJ

sim
—

—

15

D] 5 0 ] =

S

28 ) uy

I
I
—

|_3_l<f

———

L
L. DN
b

J=5O

f#f##k

i e 9

f
[
P

3

3\1
mf




vi2

L)

(senza sord)

42

1/2 clt

£

o)
"4

51

| )

mf -

mf

—3

=

ord 3

<>

<>

<>

<>

s e e e gy

1

T

1

T

—5—

—

beosess

-

e

P

e

beghs

b=

67

©

> —O°

1V X7)

Y 0O

—_—  mp

b C

£ e

/_\m/—\
gz

=

4

86

— M



vi2

arco
senza sord

0
7 O __, S I B ——
pu— — 1 O m———

L0
—

1/2 clt

el
W I

1/2 clt 1/2 clt
be & 2 = bo o oo
d — E E E ord sp T EEE
239 [>) |¥Sp \-’7 T J%@ln = Jl}@lﬂ o i .
s ape—F—H Tt to¢& ——— FQ—E < e e e e 9 s —He
3} A I I I f5 | ) fff Iy f5 Iy 3 Ay
3 m m
mff —— JIr
ord sp 1/2 clt sp
2_p 1 . /'\ ipop e ba e /oo oe, mwd
1" A o 4 | | T |1 | % | = 1/ T | I
VA% A I I !‘4- & | 3 [ =% 1 !‘4!4 [e) &= I\ | I'{'
>7-*'¢/—l—|‘8—9—|’16_&1ﬂ>?’4_1—|’8—'\—@1 N T T
— <Jff> mf —— 3 > <Jff = < fff —
S
O
JAY P
upg 2 32 e 2 elbe o 2be , be ,, FE £ T £ be,
)" A 0 I UTQ 1 | | | | | I | T L. d | | | |
Ig i 1 1| 1 1 1| —— Il I IL '1 L 1 1 1|
Ko ] I |Ko ]

cl trt ITT




cl trt ITT

ord IIT

ord III

50

nut arco

78

S

|
_

mf

pizz

Ly o e e} g T & T e ¢
(17 e Qv e e A

A
]
r

S P —

-
_—

et
1L
L
L
2
S LT
ST S
2
g LY
SIS
2
S LAY
SRS
2
s|erm &
e
e
e
e
3
V =
ne )
L Y Yl
[R
S|
AR
SN
1
YN
1
[
Yrsy
>0
3

60

cl bat

J

pizz II1

B>)

(=)

116

=)
=) (=)
| I |

(=)
|

bat
A

trt

bat
I\

| eltrt

64

124 n

S rer S

f ppp



vi2

=60
199 ord sp 7:8 7.8 78 b § cl bat
o) ====== I —— — — - N
" . NP S S S S S S A R O SO A |~ - T ]
/1 A +-—L' - -
:ﬁﬁzﬂ I 3 3 1 1
Prp pp
=50
cl trt :60
2. l; l) . clbat
133 p — E b ﬁ ﬁ v
7 ) T T T I — ) - 2 S— T I )
v ) T T T e —1 v s
6= - B | | | 2 B - 3y 2 = = J3e ¢ i
o i 3 1 1 1 NG < 3 2 gl NG K 3
<mp> <mp> <mp><mp> ———f mf
5
3 —d b Eese
142 clt 7 l’£ = ‘é‘ é I’ _____ ™
e = — P FrFFEF .| K r ]
- r ~S— im i Tl i o
A A S i m i R i ====:|:Zl:d:i¢|_-——|
Tt 57— =% 1 Ko > ——
mp mp mf
149 p 'Ier_> ’Iﬁ‘ |__> ‘ird 2’_ circular bowing
-

izz w
188 _p | | | | P arco




vi2

J before l
196 p =50 the bridge
A 0) ol

1
205 é.\ 1 ! ! 1 lc—tﬁf7—| e /'\ ——
)" A I I I | N 4 ) ] | LY I I | | | ]
AN1YJ | I | I | I Ko ] & I I 1
o u L L o S bz 3: I
S —

arco ord

W arco ord
Y

y =4 o =
9~ E E— S/ M/ E— Y — LA\
—

B E— —
('] J-60
. arco ord sp =)
pizz — =~

(KU




arco .
262 o before the bridge tuning {)eg box . =
A

my P5i o ay 03l8l 153 ¥ e

tuning peg box J _ 40
A )}

N
= N | N I

Iy I I

o, (=1 (=)
mp eV e B e e eetee £ EM e e S v oripresitede g
w‘:ﬁ ! ! : - i‘ ! r— f i======:E = ‘7 7 Vs i




simile

1/2 cl trt

vi2

AL )
~
Te]

ZaWl] Il i A
d: - | )
. V { )

ol H v>

AL W G i A w
N
H &
A \ adl i — v\ﬂ,
I
— f I (o]
>unn | g . Ol T e m
ol = e is A i
(o = meN e
LTI - |
o I
AUL@U.; i A
N o i . V>
| . v
N >' # 9
A )
Lv\ ol A H m v
L1 = 5
o M H o
SE o
4 S m
e A =i | 1l
gu 3 |u m
o 5] H o | Hi
Mt - o Elli
i > RE|D
Inl I o B fMJ
incd 1 — I

Nl I R

N | 2 &~
Aol Tl ua - o

L] o
| A : .
2T m Lt
#L . ©
A. =
‘.HV. o I
Tl |5
N AL q
- < T '
o N i ©
=T sl ne * I
Lo Ag 1L ] ] —n —
<o arnwwu R 70

325
328
332 n
341 n
360
366



vi2
377 _p

sp—————>st

st————>

left hand:

L7.84

L—78—

L7.84

L—7.8—

f

81

sp

67

R

383

67

J

J:120

98

388 n J

=

=

(=t >

nf

67

J

J=116
—3

mA

=

>

=—

=

—_—m

78

75

72

—3—

70

—3—

39 p —3
1’ A

(=)

= = = =

=

=

ord

y )
A §

—
3
o
— ==
| Y )
|, Vi
19 L))

85

J-

=84

81

404 n J

64

421 z

67

431 z




vi2

g_e o

be

J=97

J=80

445 §

i

J=42
b

451 §

E—
—

b

be
D)

-

£

gL

e

I ]
Q)>>>>>>>

£ 2 he

A be 4 o—,

460

F. il

TS
—

I'_.

s »
f =

»

1D N . J

E————

mf=>fff —————nf e —

64

ord

mf

-
mf

mf

31 31 39
T T T

—31
"

—31
?

468 n

!
S

S

S

S

1/2 cl tratto

.
T & 1A &V & ¢
" AN N S S /S S N S

I

<S>

<S>

<f

===
HES
R
wlll|| ¥
<
=
wll|| ¥
=
=
wlll|| ¥
=
=
wll|| ¥
=
R
||
R
kg
=
R
wlll|| ¥
s
R
)] %
=
R
.f._lnnll Mﬂ
SS90y



vi2

le s popoppoeoealperesreprer

sp
te

Il
t—y et t— g —t—t——g——t gt t—— g —t—t—— gt 1

q"

e o o o o o
I A

l’l)ﬁ
'gl-
I.ncooooooeooeo

=

=

p—

=

J=67

=

=

e

5.4

[ £anY

Y

| 1 d
S

4
e

.

=1 I Il I Il |- Il I Il |- Il I Il I Il |- Il

=
o)
rel

Vi

i

| 4

o

o

AL

ol

o

o

ol

o

ol
©
noo

ZOh

—3

a3
«o___
ol
Pt ]
ol
A\/b_ﬂ:
ol
Erny
ol
L
A ]
f___
Er
NS
ol
i
ol
o3|
LIE
&l
= = =4
L
N
A.____\
W H
\nE
A..____
QL
A..____
QL
A..____
QL
A..____
QU
o~
<€
]

S

Jf =

Wf ——f —— I —— S ——

[Y)

sp

3lh ~

0 0
[ T v e A I ————

LS
b
_ R
|
—
m
|

3
»




Hlr
LLE A1

&
S

| -

e Jple ey ey

&
i

1> 3
Il

Jpppipssipppipppippp ipppipppippp..

3

: ., ppe
mf

oo #b2 o le £

i

vi2
46 g,\ﬂ.
51 z

---- "
|
x - I
<t LIEN
3 ol N8
4 I t
o ) N L YR
] .
N | ! 4L
_a 1 N -4l
— T ki ]
- il
—m M nud &
A i 711 ¢
uu K o H-HH
m o ol |_
— 1 i o ¢
il d ol LTI B T
-_ I ol
| N
“_ g 29
1| — LTl N il
“_ o~ g
o 1 W 1T
““ ===t [ Bls M_J W n
oo N i |_ Mu
b S
o g ™~ ™|
w‘ §
A
=} ||-|| O
ol -]
5% SRR SEd
BE U 10 T
o 8 -
< I
iidl . o}
I L
Y $S
i lRES
] Nt
N
- - W & 1
M et ol I~
NEr NG
3 g S 3

P
©

~—

ord

q

sp

Jf

100



vi2

sp

120 n

S

seagull ITT

111

‘
—_—  __—| — sp
T
I
I
I

142 n

153

| )
C

7\ (1)
[ £an W 1
ANV 3

Version 23.12.2019



